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SECTION - A 

Q. No. 1 is compulsory. 

Candidates are also required to answer any four questions  

from the remaining five questions. 

In case, any candidate answers extra question(s)/sub-question(s) over and above 

the required number, then only the requisite number of questions top answered in 

the answer book shall be valued and subsequent extra question(s) answered shall 

be ignored. 

Working Notes should form part of the respective answer. 

 

Question 1: 

(a) A company wants to invest in a machinery that would cost Rs. 50,000 at the 

beginning of year 1. It is estimated that the net cash inflows from operations will be 

Rs. 18,000 per annum for 3 years, if the company opts to service a part of the 

machine at the end of year 1 at Rs. 10,000. In such a case, the scrap value at the 

end of year 3 will be Rs. 12,500. However, if the company decides not to service the 

part, then it will have to be replaced at the end of year 2 at Rs. 15,400. But in this 

case, the machine will work for the 4th year also and get operational cash inflow of 

Rs. 18,000 for the 4th year. It will have to be scrapped at the end of year 4 at Rs. 

9,000. Assuming cost of capital at 10% and ignoring taxes, will you recommend the 

purchase of this machine based on the net present value of its cash flows? 

 If the supplier gives a discount of Rs. 5,000 for purchase, what would be your 

decision? (The present value factors at the end of years 0, 1, 2, 3, 4, 5 and 6 are 

respectively 1, 0.9091, 0.8264, 0.7513, 0.6830, 0.6209 and 0.5644). 

(7 Marks) 

 

(b) A&R Ltd. is considering one of two mutually exclusive proposals, Projects - X and Y, 

which require cash outlays of Rs. 42,50,000 and Rs. 41,25,000 respectively. The 

certainty-equivalent (C.E) approach is used in incorporating risk in capital budgeting 

decisions. The current yield on government bonds is 5.5% and this is used as the 

risk-free rate. The expected net cash flows and their certainty equivalents are as 

follows: 

Project X Project Y 

Year-end Cash Flow (Rs.) C.E. Cash Flow (Rs.) C.E. 

1 16,50,000 0.8 16,50,000 0.9 

2 15,00,000 0.7 16,50,000 0.8 

3 15,00,000 0.5 15,00,000 0.7 

4 20,00,000 0.4 10,00,000 0.8 

5 21,00,000 0.6 8,00,000 0.9 

 

The Present value (PV) factor @ 5.5% is as follows: 

Year 0 1 2 3 4 5 

PV factor 1 0.947 0.898 0.851 0.807 0.765 

Required: 

DETERMINE the project that should be accepted? 

(7 Marks) 

 

(c) XYZ Ltd. has Owner's equity of Rs. 2,00,000 and the ratios of the company are as 

follows: 

Current debt to total debt 0.3 

Total debt to Owner's equity 0.5 

Fixed assets to Owner's equity 0.6 

Total assets turnover 2 times 

Inventory turnover 10 times 
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COMPLETE the following Balance Sheet from the information given above: 

Liabilities (Rs.) Assets (Rs.) 

Current Debt - Cash - 

Long-term Debt - Inventory - 

Total Debt - Total Current Assets - 

Owner's Equity - Fixed Assets - 

    

 (6 Marks) 

 

Question 2: 

A company has applied to the Commercial Bank for the first time for financing its working 

capital requirements. The following information is available about the projections for the 

current year: 

 Per unit 

Elements of cost: (Rs.) 

Raw material 40 

Direct labour 15 

Overhead  30 

Total cost 85 

Profit   15 

Sales 100 
 

Other information: 

Raw material in stock: average 4 weeks consumption, Work – in progress (completion stage, 

50 per cent), on an average half a month. Finished goods in stock: on an  average, one  

month. 

Credit allowed by suppliers is one month. Credit allowed to debtors is two months. 

Average time lag in payment of wages is 1½ weeks and 4 weeks in overhead expenses. Cash 

in hand and at bank is desired to be maintained at Rs. 50,000. 

All Sales are on credit basis only. Required: 

Prepare statement showing estimate of working capital needed to finance an activity level of 

96,000 units of production. Assume that production is carried on evenly throughout the year, 

and wages and overhead accrue similarly. For the calculation purpose 4 weeks may be taken 

as equivalent to a month and 52 weeks in a year. 

(10 Marks) 

 

Question 3: 

Akash Limited provides you the following information:     

(Rs) 

Profit (EBIT) 2,80,000 

Less: Interest on Debenture @ 10% (40,000) 

EBT 2,40,000 

Less Income Tax @ 50% (1,20,000) 

 1,20,000 

No. of Equity Shares (Rs. 10 each) 30,000 

Earnings per share (EPS) 4 

Price /EPS (PE) Ratio 10 

 

The company has reserves and surplus of Rs. 7,00,000 and required Rs. 4,00,000 further 

for modernisation. Return on Capital Employed (ROCE) is constant. Debt (Debt/Debt + 

Equity) Ratio higher than 40% will bring the P/E Ratio down to 8 and increase the interest 

rate on additional debts to 12%. You are required to ASCERTAIN the probable price of the 

share. 

(i) If the additional capital are raised as debt; and 

(ii) If the amount is raised by issuing equity shares at ruling market price.   

(10 Marks) 
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Question 4: 

You are required to determine the weighted average cost of capital of a firm using (i) book-

value weights and (ii) market value weights. The following information is available for your 

perusal: 

Present book value of the firm’s capital structure is: 

 (Rs.) 

Debentures of Rs. 100 each  8,00,000 

Preference shares of Rs. 100 each  2,00,000 

Equity shares of Rs. 10 each 10,00,000 

 
20,00,000 

 

All these securities are traded in the capital markets. Recent prices are:  

Debentures @ Rs. 110, Preference shares @ Rs. 120 and Equity shares @ Rs. 22. Anticipated 

external financing opportunities are as follows: 

(i) Rs. 100 per debenture redeemable at par : 20 years maturity 8% coupon rate, 4% 

floatation costs, sale price Rs. 100. 

(ii) Rs. 100 preference share redeemable at par : 15 years maturity, 10% dividend rate, 

5% floatation costs, sale price Rs. 100. 

(iii) Equity shares : Rs. 2 per share floatation costs, sale price Rs. 22. 

In addition, the dividend expected on the equity share at the end of the year is Rs. 2 per 

share; the anticipated growth rate in dividends is 5% and the firm has the practice of paying 

all its earnings in the form of dividend. The corporate tax rate is 50%. 

(10 Marks) 

 

Question 5:  

The following details of RST Limited for the year ended 31st March, 2015 are given below: 

Operating leverage 1.4 

Combined leverage 2.8 

Fixed Cost (Excluding interest) Rs. 2.04 lakhs 

Sales Rs. 30.00 lakhs 

12% Debentures of Rs. 100 each Rs. 21.25 lakhs 

Equity Share Capital of Rs. 10 each Rs. 17.00 lakhs 

Income tax rate 30 per cent 
 

Required: 

(i) Calculate Financial leverage 

(ii) Calculate P/V ratio and Earning per Share (EPS) 

(iii) If the company belongs to an industry, whose assets turnover is 1.5, does it have a 

high  or low assets turnover? 

(iv) At what level of sales the Earning before Tax (EBT) of the company will be equal to 

zero? 

 

(10 Marks) 

 

Question 6:  

fuEufyf[kr ij laf{kIr uksV~l fy[ksa% 

(a) foRr izca/kd ds dk;ZA  

(4 Marks) 

 

(b) fuos'k] foRriks"k.k vkSj ykHkka'k fu.kZ;ksa ds chp varj laca/kA  

(3 Marks) 

 

(c) _.k izfrHkwfrdj.kA 

(3 Marks) 
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SECTION - B 

Q. No. 7 is compulsory. 

Answer any three from the rest. 
In case, any candidate answers extra question(s)/sub-question(s) over and above the 

required number, then only the requisite number of questions top answered in the answer 

book shall be valued and subsequent extra question(s) answered shall be ignored. 

Working Notes should form part of the respective answer. 

 

Question 7: 

(a)  fuEu lwpuk ds vk/kkj ij Kkr dhft;s%  

(i) QeZ A rFkk QeZ B dk ewY; of/kZr   

(ii) Ckktkj Hkko ij ldy ?kjsyw mRikn   

(iii) lk/ku ykxr ij 'kq) ?kjsyw mRikn   

 Particulars Rs. crore 

(i) Sales by firm B to general government 300 

(ii) Sales by firm A 1500 

(iii) Sales by firm B to households 1350 

(iv) Change in stock of firm A 200 

(v) Closing stock of firm B 140 

(vi) Opening stock of firm B 130 

(vii) Purchases by firm A 270 

(viii) Indirect taxes paid by both the firms 375 

(ix) Consumption of fixed capital 720 

(x) Sales by firm A to B 300 

(5 Marks) 

  

(b) fofue; nj esa cnyko dh izd`fr dks rFkk okLrfod vFkZO;oLFkk ij muds izHkko dks Li"V djsaA  

(3 Marks) 

  

(c) ^lkekU; yksxksa dh =klnh* 'kq) dk o.kZu dhft,A  

(2 Marks) 

 

Question 8: 

(a) fdl izdkj ls fons’kh izR;{k fuos’k izkIrdrkZ ns’kksa ls ekuo iw¡th dks izHkkfor djrs gSa\ 

(3 Marks) 

 

(b) mi;ksx QaD’ku dks ifjHkkf"kr djsaA ijh{k.k djsa D;k ?kfVr gksxk ;fn ;ksx O;; vFkZO;oLFkk dh mRiknu 

{kerk ls vf/kd gS\ 

(2 Marks) 

 

(c) ekSfæd uhfr ÝseodZ le>kSrs dk mYys[k djsaA 

(3 Marks) 

 

(d) ,d ns’k esa /ku vkiwfrZ dk fofHkUu fu/kkZjd dks of.kZr djsaA 

(2 Marks) 

 

Question 9: 

(a) ,d vFkZO;oLFkk esa vk; dk iqu% forj.k ds fy, foRrh; uhfr eki ds dkSu ls izdkj mi;ksxh gS\ ijh{k.k 

djsaA 

(5 Marks) 

 

(b) udn lap; vuqikr (CRR) ij uksV fy[ksaA udn lap; vuqikr (CRR) ds ifjpkyu dks Li"V djsaA  

(3 Marks) 
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(c) ^,aVh MfEiax* eki ls vki D;k le>rs gSa\ 

(2 Marks) 

 

Question 10: 

(a) gekjh vFkZO;oLFkk esa cktkj LFkk;hdj.k ;kstuk dh D;k Hkwfedk gS\ 

(3 Marks) 

 

(b) vkidh LFkkuh; daVsaV vko';drk D;k gS\ ;g fdl izdkj O;kikj dk izHkkfor djsxh\  

(3 Marks) 

 

(c) GATT us fdl izdkj 1980 rd viuh izklafxdrk dks [kks fn;k\ 

(2 Marks) 

 

(d) jk"Vªh; vk; dh x.kuk djrs gq, isa'ku rFkk vk; lqj{kk Hkqxrku dks vYi dj fn;k tkrk gS\ 

(2 Marks) 

 

Question 11: 

(a) WTO ds laca/k esa rFkk bldh mnkj fo'o O;kikj dk flLVe dks cuk;s j[kus rFkk c<+kus dh bldh 

;ksX;rk ds laca/k esa dbZ Hkkadk dks mBk;k gSA  

(3 Marks) 

 

(b) pkgs ;fn ,d jk"Vª lHkh oLrq dk mRiknu esa vU; jk"Vª esa de dq'ky gS] ikjLifjd ykHk O;kikj dk fQj 

Hkh Ldzksi gSA foLrkj esa O;k[;k djsaA  

(3 Marks) 

 

(c) fuEu esa ls izR;sd fLFkfr ds fy, cktkj ifj.kke dh igpku djsaA  

(i) dqN ;qok jkf= dks rst laxhr ctkrs gSaA iM+kslh jkr dks lks ugha ikrsA  

(ii) jke ,d cM+h SUV dk dz; djrk gS tks Hkkjh gSA  

(2 Marks) 

 

(d) varjkZ"Vªh; O;kikj ds edsaZfVfyLV –f"Vdks.k dks Li"V djsaA 

(2 Marks) 

 

 

 

 

__**__ 

 

 


